Aol | |
[ |
Dv2 | Dv1 | |
Ptz A = I~ |
[N | | |
AN /
AN | | i il
N(Z2
s 3 | | | | | |
AN | | | | |
\ // N \ rover kotvenia OK \ \ P \ \ \ -
h AN | uroven Kotvenia | | N |+ | +i = | |
|- N 035 | |-~ S |22 g Gonl  EROTE ] |
| | | | | A
‘ ‘ -0.35 2
| | | | | 3 | 3|~
\ \ \ \ \ & 30 &
| | | | | T ‘
\ \ \ \ \ \ \ \
R 6000 R 6000 R 6000 R 6000 R 6000 R 6000 R 6000 R
T T T T T d;) T T
DS
+6.60 | ‘ RSN ‘ |
N | R 0 | T W
" L | E |
+5.60 | B S2aH N % S04
o D | = [ <2 a7
S L =1 | | L v | |
O N — % I [@)] j S X I fan) I I N
TINZt Wy e L5
\:\\_ ‘ +3.25 ‘ +3.25
S st 8 i 3
(S0 = N . N .
; +0.00 H K ‘+ooo K B ‘+ooo =195,00 ‘
=R . Il o ———Jt_w _ 035 _J® | v __ ’ ‘
o7 ry ] Lo %r—rﬁi—r—r—r—'r—r— N 3l
-0.35 12 i l |
| PO g ! i (PO) |
290 ) S WI-Z-SO Im |
E— p=t== 1 i i |
\ \ \ \
1o 5500 ; 6300 5 5500 J200 4500 ; 6000 300
A A 7 O A 77
R 6500 R 6000 i 6500 R 5000 R 6000 .
® ® @ © @ ©
A:l:Q
+6.60 | 1+6.90 |
v | —s et 1
REZ1-1 g | T~ 8 o '
+560 | i ! i |
| i Dv2) |
w L i w
H ih = il i
| 2y B ] |
| ! ! |
000 || UrovefikotveniaOK || £0.00 =195,00 |
| -0.35 b o T0.00=19500 |
= | B i g i | |
-0.35 | | | I
| 6500 i 6000 i 6500
T T
L ____ I S I S



	rezy

